
Multiply by Negative Powers of Ten (H)Find each product.
5.24 × 0.001 = 0.2 × 0.01 =
8.61 × 0.001 = 2.815 × 0.01 =
2.83 × 0.001 = 5.5 × 0.001 =
3.6205 × 0.001 = 9.82 × 0.1 =
7.45 × 0.1 = 5.7348 × 0.001 =
7.88 × 0.1 = 8.7306 × 0.001 =
0.51 × 0.1 = 5.867 × 0.01 =
5.5126 × 0.01 = 4.68 × 0.1 =
1.8 × 0.1 = 8.712 × 0.001 =
9.085 × 0.001 = 7.5 × 0.001 =
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Multiply by Negative Powers of Ten (H) AnswersFind each product.
5.24 × 0.001 = 0.00524 0.2 × 0.01 = 0.002
8.61 × 0.001 = 0.00861 2.815 × 0.01 = 0.02815
2.83 × 0.001 = 0.00283 5.5 × 0.001 = 0.0055
3.6205 × 0.001 = 0.0036205 9.82 × 0.1 = 0.982
7.45 × 0.1 = 0.745 5.7348 × 0.001 = 0.0057348
7.88 × 0.1 = 0.788 8.7306 × 0.001 = 0.0087306
0.51 × 0.1 = 0.051 5.867 × 0.01 = 0.05867
5.5126 × 0.01 = 0.055126 4.68 × 0.1 = 0.468
1.8 × 0.1 = 0.18 8.712 × 0.001 = 0.008712
9.085 × 0.001 = 0.009085 7.5 × 0.001 = 0.0075
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